VSWS | 019 MEEBIEORIE
Series
(English & Telugu versions) i
Time : 150 Minutes Max. Marks : 150
JaHaDa 150 HIvFaven dooefo araen 1 150

INSTRUCTIONS (28452¢)

Please check the Test Booklet and ensure that it contains all tth 1::[“ il“l‘i‘l"-"-'m“* you find any
defect in the Test Booklet or Answer Sheet, please get it replaced immedia ':;3;; - "
= }, FIGATPIIEAS na|fBennd
04, DEsand® e, DEeo 150 SDIL0DRRASS ASD HrERIT. B DESNE? PR, HErEHS DEENS
PR HF Srosws S o0 pRE0Ed SPSmIN Boerd HREMSOR- _ Cpu b _
2. The test booklet consists 150 questions. Part A contains 79 questions and 17arl contaimns
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3.  The Question Paper is set in English and translated into Telugu language. Che English version will
be considered as the authentic version for valuation purpose.
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5. Each question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the OMR Answer Sheet by darkening the appropriate circle for the question. If more than
one circle is darkened, the answer will not be valued at all, Use Blue or Black Ball point pen to make
heavy black marks to fill the circle completely. Make no other strav marks. Use of whitener is
prohibited. If used, it will lead to invalidation, '

D6 PID Peord dargrasves aSRED. oS Heanin amen J0EW OMR ISFS DEEE?
DI Seravosads SGH0% IYe DR ROVSTH. wf oS, 58 SESVOW NoDHS®, e
ASrErIan DedDonacm. S Yremr IO Mg Joyes ar/enb erd oo VK, PEIBWD.

A ) . BT .
SRSV rohen oD, PEHE e DADOBERBY. o A55 narees DAL He3DoDEE.
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7. Please get the signature of the Invigilator affixed in the space provided in the OMR Answer Sheet,
An OMR Answer Sheet without the signature of the Invigilator is liable for invalidation.

OMR 33rees DEsnd® feranods posnd® agdzod (Invigilator) s, o85S0 Soss8.
HEE DOHFHN HossEw OMR S85rers DBswd® Dedicns S’ @b HOBDoDLLLD.

8. DO NOT fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet, otherwize your OMR Answer Sheet will be invalidated.
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9, Using the Whitener/Blade/Eraser or any kind of tampering to change the answers on OMR Answer
Sheet will lead to invalidation.
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10. Do not mark answer choices on the Test Booklet, Violation of this will be viewed seriously.
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(top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his’her record.
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15. Rough work may be done on the last page of the Question Booklet only. It should not be done
anyvwhere else,
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16. As per Memo No. PRRO/-PROPPAN (HO No/3/2019/Mdl-I Dt. 26-7-2019 of the PR & RD

Dept., each wrong answer will be penalized with 1/4th of the marks prescribed for the
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PART A

Name the outermost boundary of a living

anmimal cell.

(1) Plasma membrane
(2)  Cytoplasm

(3)  Nuclear membrane

(4) DNA strands

Consider the following statements :

A,  Green chemistry focuses on effects of

chemical pollutants on nature.

B. Environmental chemistry focuses on
technological approach to prevent

pollution.

Which of the above statements is/are

correct 7
(1) Only A
(2)y Only B

(3) BothAand B

(4) Neither A nor B

(4)

00 T30 50neas5°s &vEod
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(2) BIm@ED
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(4) A0 5000ty B oo
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3.

(5)

Consider the following :

Assertion (A) : Bt cotton is a genetically

engineered cotton variety.

Reason (R):  Bacillus thuringiensis is

“living insecticide”.

Choose the correct answer from the codes

given below.

Codes :

(1) A and R are true and R is the correct
explanation of A

(2) A and R are true but R is not the
correct explanation of A

(3) A istrue but R is false

(4) A is false but R is true

Which gas is safe and an effective

extinguisher for all confined fires ?
(1) Nitrogen dioxide

(2) Carbon dioxide

(3)  Sulphur dioxide

(4) Nitrous oxide
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5.

The term “Biodiversity hotspot” refers to

(1) An artificial intelligence interface
giving information about biodiversity

(2) A region which has the maximum
biodiversity

(3) A region with exceptional levels of
plant diversity and serious levels of
habitat loss

(4) A region that is most susceptible to

biodiversity loss

The Ramsar Convention is important with
respect to

(1)  Protection of ozone layer

(2)  Protection of wetlands

(3)  Protection of wild flora and fauna

(4)  Protection of tigers

According to the report, ‘Our Common
Future’, what is the major cause and
effect of global environmental problems ?

(1) Poverty

(2) Population

(3) Industrialisation
(4) Pollution

(6 )

5.

1.

‘*rx?mcﬂ?.:ﬁ&njéj ﬁegé.:‘jérﬁlﬂ E_-'_;:'.;‘\j,] 35453&5.13 &:Ji

R leTathvl

(1 28  eostym HGD SHez
i SRR 2d FlatAlelAlelibs
RETTITEY) RO

x O e

2)  HOQ BIPG50 63 oS0

B) ZwHe 3250 D), St arletac
e
Tovew DOCH BESPow &I

0 ::L:‘.-I} EDRS 2.8 e oo

l

(4) é"é DeSs *j—“'néi'_h% F“‘méqém SOAS
=00

oS08 BSBy AN Bowohod

ﬂ-."d$£3£ﬁ}ﬂ

(1) L85 S8 Sotgen

(2)  Jrmred grdve (wetlands) Sos

(3) 35 A5).e Jbakw S5 wOBPo
Pol5e

(4) o0 Dol

‘0il 05 IrsE D30y wsso IisTotn
Rlepilele R oﬁnﬁw (T S OsUee
ROOGC IO ?

(1) H5d%0
(2) zTFr
(8) F0Fwisses

(4) sTeORgo




VSWS |

8.

fighy

How many meaningful words
formed using the first, the third, the fifth
and the sixth letters of the word
TRADEMARK using each letter only onge
in each word ?

(1) One
(2) Two
(3)  Three
(4)  Four

Find the letter that lies only inside the
triangle.

(1) e
(2) a
(3) g
(4)

10. Number of triangles in the figure 1s

can he

(1) 16
(2) 12
(3) 8

(4)

10.

¢

TRADEMARK €0 G0 Qod 135, 33,
5% «000aN 635 eSldned 2
95080 SOSvod 8 eXEEn

- : e, B =L _ap [P
5 3E EErRoD SOl WAbIN®
(1) &548
(2) Cod
(3) S
(4) T

R S 0
Bees0d ST Ne 8R0S0
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d

(1)
(2)
(3)
(4)

= s 1= R << R

5ol eedn

(1) 16
(2) 12
(3) 8

(4) 6
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11. If a= bh=. ab : find the 1n’:_-'l|1.ll_' of
a+b
3*(3=(-2)).
(1) 6
(2) 3
(3) 9
4) 12
12. Two trains running in opposite directions

13.

14.

cross a man standing on the platform in
27 seconds and 15 seconds respectively
and they cross each other in 23 seconds.

The ratio of their speeds is

(1) 3:2

(2) 3:4

(3) 2:1

4) 1:4

A sum of money invested at compound
interest amounts to ¥ 9,248 in 2 years
and to ¥ 9,826 in 3 vears. The sum of
money is

(1) T 8,192

(2) ¥ 8,526

(3) ¥ 8,670

4y ¥ 8,720

This is not a popular top-level domain :

(1) .com

(2) .army

(3) .net

(4) .org

(8)

11.

12,

13.

14.

axhe B0 eoond §u(3*(-2)=_
a+b
(1) 6
(2) 3
(3) 9
(4) 12
e V]

i = A o
ot St I Wt O%) e«

U0 4 uu w::':;.ac.,:’: ,.JI EL S8R 27 caBedden

l'..:L.:_.:;; 15 250868 oreddfondd Sbai
¢ Joto B aodEEe 23 V5D &
¢339, eond & ot D IEne
DG

(1) 322

(2) 3:4

9 21

(4) 1:4

0eh 2955500050 E?ﬁj-ﬁ%é Fuh0. 30 ot
SOSBNNOH 9,248 &, SO 3
ROSS e 9,826 Ur. @o0S 900S
8 3A2 3T G5 o ?

(1) ¥ 8,192
(2) T 8,526
(3) ¥ 8,670
(4) T 8,720

Eod TS (HRG BoBI eiron ES
570

(1) .com
(2) .army
(3) .net
(4) .org
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15.

16.

17.

18.

(9)

T - ~
Verification of =

Password 1= known as

Login  name and

(1) Configuration
(2} Accessibil ity
(3)  Authentication
(4)

Logging in

India’s present Permanent Representative
at UNO is

(1) Shashi Tharoor
(2)  Syed Akbaruddin
(3) G, Parthasarthy

(4) G. Ramaswamy

In these cities of Sri Lanka, there was a
bomb blast in 2019 on the day of Easter :

A, Colombo
B. Negombo
C. Batticaloa

The correct answer from the above 1s

(1) Aand B
(2) BandC
(3) CandA
(4) A,BandC

On June 17, 2019 a report on ‘The World
Population Prospectus 2019 : Highlights’
was published by this organisation :

(1) UNICEF
(2) UNESCO
(3) UNO
(4) WHO

15.

16.

17.

18,

A E
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(1) T:E;t"\fﬂeh}
(2) RFrogd
-
(3) (raresbles

(4) orhof 3o

UNO & 58 ol T 5-53 pelipela

i) . E
(1} %4 HCOFO
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(9} HoHE @50
o it —

(3) &. FETER
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2019 & &b Ses @oosSl &

- £ .
SHoreR o &F) 80Mo0 !

A. Feod

B. 3Fos

C. 58S

> e Hod KOS BErgNo
1080808

(1) AOdin B

(2) BSBainC

(3) C:obcaiw A

(4) A BXba»C

2019 25°S 17 & ‘@ S6§ FHTOO FE0
2019 : 3FBedy D a8 JINE & Doy
©00DSE

(1) UNICEF
(2) UNESCO
(3) UNO

(4) WHO



VSWS |
: Jillage
19. It was decided to start h"tl tﬁ[*
Secretariats on this date

20,

21.

22,

Government of Andhra Pradesh.

(1) 14" November, 2019
(2) 1% November, 2019
(3) 20 O¢tober, 2019
(4) 15 October, 2019
3 e d
The second country which declare
Climate Emergency 1s
(1)  Brazl
12)  Ireland
(3) Italy
(4) Ieeland

Which of the following are not correctly

matched 7

A. Haemoglobin Skin

B. VitaminC (Glaucoma
C. Carbohydrate Potato

D, Fat Butter

(1) Only Aand B
(2) OnlyB,CandD
(3) OnlyAandD
(4) Only A, Band D

What portion of the Moon is visible from
the Earth’'s surface ?

(1) 47%
(2) 34%
(3) 21%
(4) 59%

{10)

19,

21.
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22,

(2)
(3)
(4)

grdoo

A 3odaxn B Sr@eb
B, C 50800 D S»Ed
A $8an D S
A, B 00aty D Sr@a

HoD  JoEHY  BrRSHp

S01E50ED JoB FTE0 EIDLD ?

(1)
(2)
(3)
(4)

47%
34%
21%

59%
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23.

24,

25.

26.

(11

The quality of a printer is measured by

(1) Alphabets per Strike

(2) Words per Inch

(3)  Strikes per Inch

(4)  Dots per Inch

Which  Article of UN  Framework

Convention on Climate Change speaks
about education, training and raising

public awareness for dealing with climate

change ?

(1) Article 4
(2)  Article 6
(3)  Article 7
(4) Article 5

Wildlife Conservation projects in India

have special projects for protecting which

of these animals ?

(1) Tigers and rhinos

(2) Rhinos and elephants

(3) Tigers and elephants

(4) Tigers and lions

Environmental sustainability requires

(1) Implementing environmental
protection laws stringently

(2) Participatory, open and democratic
decision-making

(3) Focussing on the number of
beneficiaries

(4) Reducing deforestation

|23,

26.

25.

L;m}{iﬁ oSars outio H8od 3Bak
300

(1) Q59 4

(2) wgiéﬁ

3) =056 17

(4) ©B85S5

TES B408°D 385 See3 HoTYes SEYe

200 TS & woEHL DoSEND
ER0% B aTmyow

(1) Yooww DO & :u:.ﬁ*:;:

(2) D Soyrew SOAL e
(3) Hoew HBaw Daorde

(4) Do HOA voFw

o4

ROEI0E QTR RS s oncd

(1) Jo°eibe SOSEEs Serod Seorr
e JahEo

5050 8 Sbay PEr Fey
cwBore &) oo S SEo
0gT o Sogw Gyn JrboSko
98 oS SRoHEO

(2)

(3)
(4)
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27.

28,

29.

Given that

a.  Ajis the brother of B.
b.  Cis the father of A.

c'. D is the brother of E.
d.  E is the daughter of B.

Then, the uncle of D is

1) A
(2) B
3) ©
(4) E

How many numbers lie between 300 and

500 in which 4 comes only one time ?
(1) 99

(2) 100

(3) 110

(4) 120

Find the number of triangles in the given

figure,
(1) 6
(2) 5
(3) 8
(4) 10

(12}

27.

28.

o8 T30 $0Hess’s &uflod
a. B @y, 360 A

b. A dint), So C.

¢. E ), 565 D.

d B ﬂ':ﬁl, 03¢ E.

oo, D LE:..:EL. &a‘iﬁ}

(1) A
(2) B
3 C
4y E

4 ©C% 250 IrED I8 300 Dok

500 Sog; 33y Doge Doy

(1) 99

(2) 100
(3) 110
(4) 120

(13 /.6
(2 5
(3) 8

(4) 10
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(13) =
P 30. 1 ; : 4 (AN e e
f“ thlE questlﬂn S0me Etatﬂmentﬁ are 3“. .%D& @%:156 gb”; et i i = ,,._ll
Dl:;ﬂ“red by some conclusions. You have to < ssRoed qﬁ_ﬁaﬂﬂfﬂx- ;:-:Fﬂ;_ T
take the given statements to be trye ey T2 ; G
¢ &l ¢ true even SepSeo 05 3OS Borged om
IT they seem to be at variance with = e
commonl : a5eld e dorgeom B0nedsT
monly known facts and then decide N 2 =
which of the given conclusions logically SOy GR@INoY, AMY  IRSSTres
follow from the given statements ? m; ey o0 DT Agawoded
" | o it e b g
Statements : S SS0e
=
(1) A few of my friends are teachers, (i) Fhired 58 Hod LU
(1) Teachers are rude. (i) &3350 BOSOMT GotTld

(111) Some rude persons are good at heart.

Conclusions : 3009 0y BUNGCLT L.
Cl. A few of my friends are good at SvAodyen :
heart. C1. mﬁ;&b{,‘;m E‘;."LT._. 008 o) B
L] ar & i " "':-Eﬁqi .I“:H--,_:h‘:"‘I
(2. Some rude persons may not he SO/ el
teachers. C2. s63omr &od TO mod Suk
T b M M
(1) Only C1 follows S5,

(2)  Only C2 follows (1) Cl3rEd od 8od

(3) Both C1 and C2 follow @ C23rEd o0 &iyod

(4) Neither C1 nor C2 follows

(3) C1 35000 C23olr o0 Garaw

-
- o

-

(4) C1:%0af C2 3oty b S

e

81. The number 52563768 is divisible by gy s9spa7eg asxs sow: Bob T & 38

e - l} = za
which of the following numbers ° FROSHEHS Bosod ?
W) 2 1) 22 ll
e
(2) 22 2) 24 /5
(3) 44 (3) 44

(4) 36 (4) 36
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32,

33.

A, B and C jointly thought of engaging
themselves in a business venture. It was
agreed that A would invest ¥ 6,500
for 6 months, B # 8,400 for 5 months and
C % 9,000 for 5 months. A wants to be the

working member for which he was to

receive 10% of the profit. The profit
earned was ¥ 7.400. Calculate the share

of B in the profit.

(1) T 2660
(2) ¥ 2520
(3) ¥ 2,220
(4) ¥ 2,840

Four horses are tethered at four corners of
a square plot of side 36 metres so that
they just cannot reach one another. The

least area left ungrazed is

(1) 2755 m?
(2) 280-6 m?
(3) 2777 m®
(4)  250-5 m?

(14)

32,

33.

x L]
=L

A, B 5:8an C e Sniplo NISVSY
TS0 @vodoTd el @DE B,
A e es85¢%y 6,500 & 6 3002 B ek
@) 8,400 8r. 5 J0ORW UL C

@i oSt 9,000 &, oD 5 Jowim
REVATS RERMENEY JQDJ}D':)'E}. A =%
DT T T Jeis%0 OFEDE e 10% orgihn
ITHIBR @) JFJowodd. gl
7400 &y, orgdn SO db&e B <
@S0 graisn Solh T JOS ?

(1) T 2,660
(2) T 2,520
(3) % 2,220
(4) % 2,840
36 b EY Mo 2 IHESTE o

Q0L TNl dredr Trenih Mdasoen
58 Jabwdsd. & HEsve u3odd
w88 JOFSBYH eows & HEsow

Soredosdd dEs oy, 5%
Q?ﬂﬁﬁm

(1) 2755 m2

(2) 2806 m?2

(3) 2777 m2

(4)  250-5 m2
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34. The term ‘Computer’ generally refers to

35.

the Central Processing Unit and also,

(1) Input Devices

(2) External Memory
(3)  Internal Memory
(4)  Output Device

To do the formatting of text in Word, this
grouping is used.

(1) Tables, Paragraphs and Indexes

(2) Paragraphs, Indexes and Sections

(3) Characters, Sections and
Paragraphs

(4) Indexes, Characters and Tables

36. Consider the following statements :

A. Population Division of the United
Nations published a report titled
“The World Population Prospectus
2019 on 17" June, 2019.

B. The report says that the world's
population in 2019 is 7-7 billion.

(.  As per the report, in 2019 China has
1-33 billion population and India has
1-27 billion population.

Identify correct statement(s) from the
above,

(1) OnlyAand B
(2) Only A

(3) OnlyCand A
(4) C,Band A

(15)
34.

39.

36.

‘EGQ}“{#E’ wdnso FrErlndT wosd
kol ofrDS  Hbam O
Aol

(1) 3SHE 0T

(2) & 2020

(3) ©oSFS Foaw0

(4) @@5E95 e iiele)

<
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$58° ) Bty SHISID BOXES

::: —

(4)

od @;ﬁif}ﬁﬂﬁ: “aNeass 3 HREol

A, Egé okt~ SNzl JETNaX
2019 2°S 17 & ‘O 309 P

Snge 2019 3058 o8

200000,
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— Wy o M

i ke et
s L

B. 2019 & $uos e 77 LOG0IC
F =,
& J3DE DF0d.

=

VROE B

D PSUTe QoG B0 T°¢3Q
jlsletalelad

() ASodctv B S

(2) A ISP

(3) C3Bak» A Sr@de

C, B 000w A
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X AT . 37.

37. This country has released a special
postage stamp on Ramayana on 24 th
April, 2019 to commemorate 70 years of

38,

its diplomatic relations with India.

L1 Malavsia
(Z2) Singapore
(3)  Philippines
(4} Indonesia

Consider the following statements :

A.  Jal Shakti Ministry in

Central Cabinet.

15 a new

B.  The objective of Jal Shakti Ministry
is to provide water for irrigation to

every inch of land.

C. The Government wants to make Jal
Shakti a Jan Andolan.

D.  The aim of Jal Shakti Ministry is to
to

household within the next 5 yvears.

provide piped water every

Identify the correct statements.

(1) AB,CandD
(2) Only A, D

(3) OnlyD,C, A
(4) Only B, C

& .=
5 s T ’ —_:}-. A LR ™ R
5 V8o G B0 PAFOE0 o 24 L0
=1 3t
e — - -‘—\'h;_ Nl g e o .
-
wa, Y -
e 0l LI
-1
I']j ;:LM‘ W
o o
(2) 2oR3F0

8 o

":-]" .....\...I'*"‘“J"
(4) o&Ihaur

e .--En. h g‘: 3

A, SoB o SZod wmedd o8 Srsd

S00|ES: TP,

B. wmo¥y Sodf; T o5 @S
@000 &8 SHI oo,

OGRS WESTrok Hlotod.

(1) A,B,C:350aD
(2) A, D Iredh

(3) D,C, A SmEH
(4) B, C 350



39. One of
Draﬁ P

40,

41.

2019 i the extended coverage of RTE Act

licy of National Education Policy

2009 to all children between the ages of

£1)
(2)
(3)
(4)

The city that was decided to be renamed

as ‘Atal Nagar' in memory of former

3 to 18 years
4 to 14 years
5 to 15 years

6 to 16 vears

Prime Minister Atal Bihari Vajpayee is

(1)
(2)
(3)
(4)

Identify the correct pairs of fundamental
quantities and their SI units from the

Vidisha
Nava Raipur
Jabalpur
Betul

following :

Al

Choose the correct answer from the

B
C.
D

Electric Current
Power
Pressure

Mass

following.

(1) Only AandB
(2) Only Band C
(3) OnlyCandD
(4) OnlyDand A

Ampere
W (Watt)
N/m?
Kilogram

17)

the key recommendations of the |39

40.

41.
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Ho RTE ©40 2009 O % S
rosot0d SDOBEN TOY & S
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(3) 55006 15 RoSS T
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42,
A, Diseases caused
by bacteria
B. Common
protozoan
diseases
C. Common fungal
diseases
). Common viral
diseases
From the above

43.

classified diseases are

lists,

following  is

| 18 )

Cholera,
Tetanus,
Leprosy,
Anthrax
Malaria,
Amoebiasis,
Diphtheria,
AIDS

Taeniasis,

Blastomycosis,

Svphilis,
Rabies
Measles,
Dengue,
Rubella,
Influenza

the correctly

not

micronutrient required for plant growth.

(1) D,C,Band A
(2) OnlyD,Band A
(3) OnlvyDand A
(4) Only C and B
One of the

(1)  Molybdenum

(2) Manganese

(3) Magnesium

(4) Copper

d

43.

Moy
A wrioar S
S*Oes0mT S99 GNTH0,
w Wy " E-
:r'?. o g‘“’*ﬂ* tjDLE‘-’__
N a0
B. 58 550 586atr,
T Sea0m S50 e0ALTRR,
e §°808eID,
So08A
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a F
SHoIT 55y DTN,
a E,
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o, ﬂDﬁ?ﬁ,

S0y TG LB,
Foodoes
2 T Sofo RO SQE0e JoHwds
STV
(1) D,C,B3o0civ A
(2) D, B 3o0cin A SrEsa
(3) D0 A Smsd
(4) C 30Ban B Sriesid

08 TUS o83 Juye BWHSSH
IV SPEERES0 5%

(1) SrHESD
(2) SrohoR
(3) Ef‘ﬂ:ﬁm

4) 56
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44. Which important Act for environmental

435.

46.

47.

protection was passed in the year 2002 in
India ?

(1)  Wild Life Conservation Act

(2)  Tiger Conservation Act
(3)  Evergreen Trees Act
(4)  Biodiversity Act

The ultimate objective of the United

Nations Framework Convention on
Climate Change is
(1) To stabilise green house gas

concentrations in the atmosphere,

(2) To increase our understanding of
environmental disasters.

(3) To work out plans to curtail
environmental pollution.

(4) To suggest changes to reverse the
effects of environmental
degradation.

Which award is instituted by the
Government of India for individuals or
communities from rural areas that have

shown dedication for protecting wild life ?
(1) Indira Gandhi Paryavaran Puraskar

(2)  Amritadevi Bishnoi Award
(3) Pitambar Pant National Award
(4) Sunderban Paryavaran Puraskar

The device used on ships to measure the
depth of water is

(1) Barometer
(2) Nanometer
(3) Fathometer
(4) Hydrometer

(191
44.

45, SrESsEs SO

46.

47.
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48,

49,

a0.

If - means +; + means x; + means =

<« means +, then which of the following

equations is correct ?

(1) 52+ 44+5x8-2=36
(2) 43«7 +5+4-8=25
(3) 36x4-12x5-+3=420
(4) 36-12x8+3+4=60

In the following diagram, the circle
represents the college professors, the
triangle stands for surgical specialists and
the square represents medical specialists.
The surgical specialists who are also
medical specialists but not professors are
represented by

(1) A
(2) B
(3) C
(4 D

In a certain code, STATISTICS is coded as
SCITSITATS. Which word would be coded
as NOITINUMMA ?

(1) ANMOMIUTNI
(2) AMNTOMUIIN
(3) AMMUNITION
(4) NMMUNITION

( 20)

48.

49,

50.

[

. e BT e e mp e
- QNI +; + I X 7 ST = X &5

ows 5 BuEsesnE A8 Je

+|. ::—l'l--"\-*-'l

(1) 52 +4+5x8-2=36
(2) 43xT=5+4-8=25
(3) 36x4-12x5+ 3=420
(4) 36-12x8+3+4=60
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ST, (DEbeEr GO0 WS
rk Ui

DIHrwets 3800 SEOSRS0 eENs

S wdevesy  SrIRged. e
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Lt e e

(1) A

(2) B

(3 C

4) D

STATISTICS e S50 SCITSITATS
850) mPuwowa 0hée NOITINUMMA =
S0 D 0T BDOBIEND

(1) ANMOMIUTNI
(2) AMNTOMUIIN
(3) AMMUNITION
(4) NMMUNITION
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Re -
eNa ie . o \
418 twice as old as Suma. Three
Vears ;4 .

Ag0 she was three times as old as

Sy
= na, b ' - i
t- How old (in years) is Reena now ?

\1) g
(2) =
3y 8
(4) 12

Consider the Venn diagram.

Five hundred candidates appeared in an

examination comprising of

tests  in
English, Hindi and Mathematics. The
diagram gives the number of candidates
who failed in different tests. What is the
percentage of candidates who failed in at

least two subjects ?

English m Hindi
Mathematics

(1) 0078

2) 10

(3) 68

(4) 78

51.

52,

[

B e A
63‘5 -:J.J‘f.u.;w'-u aﬁg':?w;: Sl ¥DA &0d
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(1) 6
(2) T
(3) 8
(4) 12
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TR T e ——
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Jeo VB0 DG 5BE0S Doud wond T8
Sop; BLoHE0B. ¥80 Botd SASELY
o8 eond T8 FrE0N 2

ﬁ L

00
Ke3e5s50
(1) 0:078
(2) 10
(3) 68
(4) 78
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a3. hourly

The pie  diagram  shows the :
distribution of all major activities of a
student, Observe the diagram and answer
the following.

e,

g

/ Sleeping
120°

Others
60~

The percentage of time which he spends in
school is
(1) 37%
(2)  29-16%
(3 40%
(4)  27%
54. Study  the

following  pie-diagrams

carefully :

Hormones
and
CNZVMEes

Percentage composition of human body

What percent of the total weight of the
human body is equivalent to the weight of
proteins in the skin of the human body ?

(1) 0014
(2) 14
(3) 014
(4) 25

{ 22)

2.

GE N

o 0 =

M "4 AT S v ST Yo
LD L A Tty E LJ.'.E.‘E';-.-D.-‘EJD{:-J-J i o end N

1) 37%
(2)  29-16%
(3 40%
(4) 27%

T hi ] L i = ¢ o B 3 s Lo 8
S 1500 D SQED e igm S088oT0c

Sr33 $000 A, KDy TSI
$000 g 2P Jo SGHI» Jo&d
Seedibo THIH BN oS0

(1) 0-014
(2) 14
(3) 014
(4) 25
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!'[.l'IHI :
Vo ¢

Latements i "
its, A and B are -
beloy, * e given

A .
ROM i< Read Only Memory which is

4 type of non-volatile memory used

M computers and other electronic
devices.

Only data stored in ROM can be
modified quickly with ease.

Pick Uup your answer from the following :
‘1) Both A and B are correct

(2)  Only B is correct
(3)  Only A is correct

(4) Bis correct, A is wrong

The present World Bank President is
(1) Nikki Haley

(2) Robert McNamara

(3) Kristalina Georgieva

(4) David Malpass

The Central Government’s target is for

providing clean drinking water to all by

(1) 2021
(2) 2022
(3) 2023
(4) 2024
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(1) A Sbafo B Botir 8353
(2) B SR@ 5838

(3) A ISP D88

(4) B X3S0, ADDSD 5

56. (D08 (D000 erges SEEEs
(1) %, 8
2) Tuf DEISPY
(3) 89S =0

(4) GI6 Sro>h

57. 308 Pedo eot0S BHEIRS Tk e3D
&2 JoIBTV8 wodoTren ©f SO 2063

500

(1) 2021
(2) 2022
(3) 2023

(4) 2024
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o8.

59,

60.

The launch vehicle
Mission to Moon 1s

of Chandrayan-2

(1) GSLV-MK 11

(2)  GSLV-MK IV

(3)  GSLV-MK 111

(4)  GSLV-MK I

Consider the following statements :

A.  Increase in deposit rate results in
higher savings.

B. Increase in deposit rate results in
fall in credit offtake.

C. Increase in deposit rate results in
increase in investment.

Which among the above statements is/are

correct 7

(1) AandB

(2) Aand C

(3) A,BandC

(4) Only A

The country hosting the next Olympics to

be held in 2020 is

(1) Japan
(2) France
(3) Qatar

(4) South Korea

[ 24 )

58,

59,

60,

(1) GSLV-MK II
(2)  GSLV-MK IV
(3)  GSLV-MK III
(4)  GSLV-MK1

A, &2 Ben odite Hidomr
St DO
B. &35 Ten onGe HdSor

C. &2l Cew Felor)latls
:zé..:mr:;wa aioara.

2 TS J0EHS PEssoloo DAND ?

(1) A8 B
(2) A Sobatn C
(3) A,BS8a»C
(4) ASrSd

2020 & 20006y e8GR dio

(1) 200
(2) @vE;
3 wpob
4) e SO0k
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= SHE000 orO0oWd. HTarioty iErod ,
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Seotn S0 ARG TEU.AJDE-}J:»..} “‘Ee SAIOEX
Fen Ty ¥ PRl
ajod  Soedaiy T SoSithe DHaSet) (4) el
:}L‘L:-.'{D e ,:I_E‘ -yt jﬂ'{l& CIR 000 {:}k..-f'& 66, | do not know very much
S38e T AR5, medieval history.
Choose the best option to fill in the blank.
- ) (1) about
61. EJE-“E‘] Gl 55@33@3 AR (2) on
(1) @I (3) in
(2) T irdoh (4) with
(3) éjﬁhmr::m 67. Choose the correct sequence labelled as
(4) ST PQRS to produce the correct sentence.
had / experiences / | have / amazing
62, Vs KOS TihomS’ I P Q@ R O
1) HTeswed 3Hwds bam () Es
2 3ssved azﬁgﬂdﬁﬁ o (2) SPRQ
(3) SOTTT® SHHB0D (3) QPSR
(4) &L BsSe IS o (4) QSPR
68. ‘How are you ? I don't see vou for ages ?
683. e Soddhe e e 0oRS GRS Choose the option which ecan replace the
e underlined sentence.
s (1)
: I haven’t seen you for ages.
(2) &HSSw >
5, (2) Isaw you for ages.
3
3) (3) Thave saw you for ages.
(4) eTIFTS0 (4)  Inot seen you for ages.
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given | T2.
Directions : (69 - 791 Read the passege en |72
below and answer the questions hased on it
One of the reasons why Nature and

- - : eing  in
relaxation connected 18 that being

Nature helps us to connect with the present
moment. We pay attention to the here and now.
This moment and nothing else. We enjoy th
beauty of the natural world and we stop having
stressful thoughts, we stop worrying about the
events of our lives. We simply enjoy the present
moment in Nature. If yvou can’t go outside. look
at pictures of Nature, or watch a Nature video.
Those who have watched videos of Nature,
recovered faster from the stressful event.
Through visualisation and relaxation learn how
to create images of Nature in vour mind. You

arc

will find great relaxation  benefits  using
Imagery.
69. The author suggests

(1) Spending time in Nature nurtures
creativity

(2)  Spending time in Nature helps in
living in the present

(3]  Spending time in Nature is a good
substitute for physical exercise

(4) Spending time in Nature is a good

means to waste time

70. Which of the following is not mentioned
as the method of bringing Nature into our
life ?

(1) Looking at images of Nature

(2)  Watching videos related to Nature

(3) Visualising images of Nature in the
mind

(4) Drawing pictures of Nature

71. How does Nature provide relaxation ?

(1) By helping us in forgetting the past
and stressful thoughts

(2) By making us visualise the stressful
thoughts and  purifying those
thoughts

(3) By making us think about our sweet
memories

(4) By motivating us to plant trees in

our house

73.

T4.

75.

‘We enjov the beauty of the natural world.

Here ‘natural’ 15
A noun

(2)  An adverb
An adjective

A verb

According to the passage, watching a
Nature video

(1}  slows down the pProcess of mming oult
of a stressful events

(2)  does not have any effect on people
undergoing stress

(3) makes them depressed in the long
run

(4)  accelerates the process of coming out
of a stressful event

At last | finished my project !

Choose the correct option to fill in the
blanks.

(1) am
(2) did
(3) has
(4) have

Choose the part labelled as A, B, C, D that

has an error.

My father / made me go /

(A) (B)
and apologise with / my friend.
(C) (D)
(1) A
(2) B
(3) C
(4) D
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PART B
:':::::;::{.zf:}llm following pairs are correctly | 76.
A, Kalachakra Harthara
Ravalu
B, Amuktamalyada Buddhist
discourse
C. Vddanda Raya Vddandaraya
palem
D.  Rudramba Devotee of
Shiva
(1) Both C and D
'2) Both B and C
(3)  Both A and B
'4)  Both A and C

Consider the following statements :

A

Kannuganti Hanumanthu was the
leader of the serious incident that

oceurred near the village
Minchalapadu.
The Ravalaseema Mahasabha was
formed in 1934.
The Rayalaseema Mahasabha
demanded the creation of Sri

Venkateswara University at Kurnool.

Which of the statements given above
is/are correct ?

(1)
(2)
(3)
(4)

Only C

Both B and C
Both A and B
Both A and C
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78. Consider  the following  statements
conecerning  the  Constitution Une
Hundred and First Amendment) Act,
2016 :
A, The Act introduced Goods and

79.

Services Tax (GST).

B.  The Act amended Sixth and Seventh
Schedules of Indian Constitution.

C.  The Act empowered Karnataka
Governor to  take for
developing Hyderabad — Karnataka

region.

steps

D.  The Act provided for the composition
and function of National Judicial
Appointments Commission.

Choose the correct answer from the
following :

(1) Only D is correct

(2) Both A and B are correct

(3)  Only C is correct

(4) A, B, C and I) are correct

Identify the person who acted as the Chief
Justice of the Supreme Court of India,
President of India (Acting) and Vice
President of India at different periods.

(1) Fakhruddin Ali Ahmed
(2) Mohammad Hidayatullah
(3) A.P.J. Abdul Kalam

(4) B.D. Jatti

{28)
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82.

{29

these two have a common High

Tamil Nadu and Puducherry

(2)  Andhra Pradesh and Odisha
(3) Gujarat and Rajasthan
(4)

Uttar Pradesh and Madhya Pradesh

Consider the following statements :

A.  Pradhan Mantri Suraksha

Yojana.

Bima

B.  Pradhan Mantri Jeevan Jyoti Bima

Yojana.
C.  Sovereign Gold Bond Scheme.
D. Kisan Vikas Patra Scheme.
Identify the Jan Suraksha Scheme(s).

(1) OnlyC
(2) OnlyD
(3) BothCandD
(4) Both A and B

The Chairman of the National Credit
Council Study Group was

(1) Prof. D.R. Gadgil

(2) Prof. P.C. Mahalanobis
(3) Prof. Amartya Sen

(4) Prof. V.S. Vyas

APSSIDC, APSFC, APIIC help to promote
the development of these industries.

(1) Defence industries

(2) Strategic industries
(3) Small scale industries
(4) Heavy industries

80.

81.

82,

83.

2od TIE 2
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Boedd esnd TEW
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(1)
(2)
(3)
(4)

A
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C.
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(1)
(2)
(3)
(4)
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D S8
C S»dain D Colir
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(1)
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(3)
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84.  Consider the following statements :

A,

B.

According to  Andhra  Pradesh
Statistical Abstract 201112, the
decadal percentage growth rate of
district is

population in Kurnool

14-65.

Pradesh
2011 - 12,

Andhra
Abstract

According  to
Statistical
Anantapur district occupied first

place in area in our State.

When compared with the population

census 2001,

according to 2011
census, the sex ratio declined in

every district in our State.

The fertility rate in Andhra Pradesh
started to increase during 1990

decade.

Which of the statements given above

1s/are correct ?

(1)

(2)

(3)

(4)

Only C

Both Cand D

Only D

Both A and B

84,

&
o
|
.

B.

=

(1)

(2)

(3)

(4)

~ . 1 L
P ——w ¥y [T - } &
F4 .--.5.-.. " . .Jﬂ‘ﬂ" ..:,,: ) 1 .

b |

Andhra Pradesh Statistical Abstract

2011 - 12 $5*C0 T OTYY &

. e fge o
1 W n i T = I:IE:-E. il q.ﬁ:
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Andhra Pradesh Statistical Abstract

2011-12 580

R > '51.‘ s Fyome T -4
B3O BTE W  DWHIHS Shod.

—‘,"
T -1 Y
S et

SO P3FE S0 &g

(fertility rate) 1990 &¥508 2uiiso

C St
C S0cin D Sods
D S5

A 000 B Sodr




VSWS | =
(31) CJ
35- rlﬁh{_:- .

.l i .
author of ‘Social Contract’ is

85, ‘S SoErg Coond
(1) Robsen 1) 30
{ St AR
(Z)  Ro | 4
usseau .
‘ (2) OF&®
(3) Ross 3
(3) T
4 Reuter 536
(4) CFes
86. Accor
* dmg to Maclver, Soci ' Jo 3B &b
: ety 15 a web of taxh Bolo Sdreo @b Sclmed
(1) Fami - SRTIO0
amily relationships
Y R (1) $HEDow DOV
l2)  Social relationships
3 5 (2) FSrES DORWCTW
(3)  Religious relationships .
(3) Sod DOoROTTD
(4)  Fraternal relationships w .
(4) Trgrd)B ROROTT
87.

The scheme introduced in 2010 - 11 by | p |
the Union Government for rendering 87. So PFhSe 2010-11 © 11-18

services to aid the all-round development ROIGNTO 33#»”?3 o @rdfe DAl Lo

of girls of 11 — 18 years on pilot basis : gg 5D VS0 € wododots Eod

(1) Scheme for Adolescent Girls (SAG) Q) @ﬁrma or :Ziwui‘;

(2)  Scheme for Anganwadi Centres (1) T35r8 erdSe 50 (SAG)
(SAWC) (2) ©okSTE 3 Sore 2550 (SAWC)

(3) Scheme for National Plan of Action (3) 3:96 HCH ST e
for Children (NPAC) N

250 (NPAC)

(4) Scheme for Direct Benefit Transfer (4) [DoTH0 ooy AL S&Ec (SDBT)

(SDBT)
|88, Bnoues® Rims Sodod w88 To&
88. The second largest producer of wheat in 2 2
the world is
(1) Sri Lanka (1) &oos
(2) Bangladesh (2) OTPas
(3) Indonesia (3) zo& oo
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89. The two rivers flowing in Visakhapatnam |89,
district are
‘1) Sarada and Tandava
'2) Byneru and Tammileru
(3) Bahuda and Tanaya
4} Pyvderu and Kalangi
90.  Superior quality limestone is available in A
the following areas of Andhra Pradesh :
(1) Bhimavaram and
Buggamadhavaram
(2)  Jaggayyapet and Chintrival
(3)  Krishnapatnam and Muddanuru
(4)  Jammalamadugu and Mydukuru
91. The Andhra Pradesh Reorganisation 91
Act, 2014 was published in the Gazette of
India on
(1) March 1, 2014
(2) March 2, 2014
(3) March 2, 2015
(4) March 2, 2016

e, uﬂam a‘bﬂﬂ;ﬁ

a Y
L e el Cahd

(3) edwuge Sodalny S50
(4) DES Hdon 5o

o Ny o F,'F:': 2 R TeLTant T
\'"""""-."T"' Il-a-.-j'd'\'_.r - :& L-:n..-' ':"-;'T uf iEPﬂ

— ks L ~ .\""'-'-;.,q. =
TERD MY 0OwRTPCN 088308 ¢
L ey f—

(1) 9D3G0 $bak ewAIrESEo
(2} efcbe 2O Jodore
(3)  E30en0 00K SHGIPE

(4)  ©3ROREHIH OO JoEERED

SOl (S04 Dl 55%@55? wee 2014
TEERY Tz D80 (the Gazette of India)

S 5 303 PHOSPI

(1) S8y 1,2014
(2) 578y 2, 2014
(3) 570y 2, 2015

(4) 550y 2,2016
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92,

93.

94.

u.rI;hE

ons 1 1
nshore production of oil
accrue g

Production

Pradesh Reorganisation Act, 20 14

(1) Tenth Schedule

(2)  Twelfth Schedule

(3) Twenty-First Schedule

‘4)  Ninth Schedule

A public sector undertaking of the
Government  of Andhra  Pradesh |93

established in the year 1956 with a single
mission, which is for the socio-economic
upliftment of Tribals in the State is

(1) The Tribal Welfare Department

(2) Andhra Pradesh Scheduled Tribes
Cooperatives Finance Ltd.

(3) Andhra Pradesh State Minorities
Finance Corporation Ltd.

(4) The Girijan Cooperative Corporation

|94
Thirteen State Governments which

included Andhra Pradesh have set up a
Statutory Commission for

(1)
(2)
(3)
(4)

included ip this Schedule of the Andhra

(33}

rovalties payable on domestie

and gas shall
which
IF“!'ll'n.

the State in
takes

such

place, was

Minorities
Religious and Linguistic Minorities
WAKF Council

Women and Child Development

92,

L '5 F Ja ."'\ .:I:. el '\-_g"i..
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a e
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F
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= st e |t
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f

i f....; O —
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(3) [0SO eSS JET
(4) TS VT
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(2) eo ©3E w8 S 098835
25y O0BE

3) o EBF TP PoUd TS
5055 dWHE

(4) O Adms § &S88S 8 0HS
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96.

97.

overall  health  performance of  the
National Health Index developed by NITI
Aayog, Andhra Pradesh is ranked at this
place (in 2018),

(1) Tenth

(2} Eighth
(3)  Eleventh

4)  Fourth

Consider the following statements :

A. A complex mix of methods are
needed to solve complex problems
such as poverty.

B.  Economic and social issues are
irrelevant in understanding poverty.

Which of the statements given above

1s/are correct ?

(1)  Only A

(2) Onlv B

(3) Both AandB
(4) Neither A nor B

A Self Help Group member needs to show

commitment by  attending regular

meetings to qualify for

(1) Higher education
(2) Buying land

(3)  Bank loan

(4) Asset generation

( 34 )

95.

96.

97.
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98, Shree

Fede

99,

Nidhi  Credit

ration Limited is promoted by the

"
oy ernment and the

(1)
(2)
(3)

(4}

Which of the following pairs are correctly

Self Help Groups

Village Organisations

Mandal Samakhyas

Zilla Samakhyas

matched ?

(1)
(2)
(3)
(4)

Schemes/ Acts

Nutrition cum
Day Care
Centres

National Rural
Employment
Guarantee Act

Indira Kranthi
Patham

Nutrition cum
Day Care
Centres

Only A and B
Dnl}r ﬂ ﬂ.nd D

Only A, Band D

[ 35 )

Co-operative

Activities

Integrated Child
Development
Scheme
Enhancement of
Livelihood
Security of the
Specified
Households

Nutrition and
Health Days

Formation of
Self Help
Groups

98.

; E= L B R = F
.rg‘m-é."’ woTren BN L
B, L& ELL{J 5 e8,00800) «IaCedpd Tadobdlaodd
L
— i - - _-:‘ i
g - B o 5 1
'l"'--—EI-r._.J.-q.-. I'.} L i LI = -'...':p..f

Pgd0 @ !
(1) ©5C0 Sytahy Rofrw
(2)

(3)

(4)

E3 30 Uﬁﬁbﬁ; S e SISTIR e
SoSseadmron
Segren] Serrer SR
A, Srpedhe go BEYS 8%
Ei EE :JDQ.]C;:.-'_: “'.-"'E:-"w__'.-'-.:;_‘_-': =550
B eHOH {f‘i“il: ~ ‘”‘E‘:’*- Kad 1 eTre)
&3O T Do), BT
Ao AlIATI NS
15&'G53;C~.u
C. 3088 Frod . FESes Do
=G50 &3:3°0 Horew
D. Srgedss So  : gotbo SFALE
& s FsleTNleb HONFO :::léﬁ::
(1) A 8co B Sr@d
(2) A 3005 C SrSd
(3) A B0 D S
(4) A, B 358050 D Srgd
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100. Which one of the following pairs is/are

101.

correctly matched ?

A, Chandragupta Privadarsi

B.  Kanishka Devaputra

C.  Kujula Kadphises : Rajadhiraja
D. Kalpasutra Buddhist text

(1) BothAandD
(2) BothBandC
(3) Both Aand B
(4) Both Aand C

Sonti Hamamurthy was the first Indian
ICS officer to hold the post of Chief
Secretary to the Government of Madras
Presidency. He hailed from

(1) East Godavari district

(2) West Godavari district
(3) Vijayanagaram district
(4) Visakhapatnam district

{ 36 )
100.

101.

308 TAE HOT wBHESREI I ?
A, Do K% 200
& 05 )
B.  £J5n,¢8 35S
C. SwmoE0S: oTmooe

TEDS oG

(1)  ASbHakn D Coder
(2) u8cin C Colr
(3) A S8cH» B Bokr
(4) A 38aiw C Colir
DE PRGYy BL0S; Sog; 5860

SEID IS el erudan
Q50 ol T . edt B BT

DOEITHED

(1) &riy Ros Bep

2 3% Forsd g
(3) desabsito ger
(4) JTPdLseso £
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102, The fourth N

Y {1 1

awarded to this
Outstanding contrib

c-flner::u:}' in India.

woman for her

ution to the pPromotion

(1) Duvvuri Subbamma

(2) Pratibha Bharati
(3) Arutla Kamala Devi |
(4)

Durgabai Deshmukh

103. The President of India can be removed

from office through

(1) No-Confidence motion
(2)  Impeachment process
(3)  Judicial process
(4)  All of the above
104. The first recommendation of
Justice Srikrishna Commission (2010)
Was
(1) Continuation of status quo of
Andhra Pradesh
(2) Bifurcation of Andhra Pradesh and

Telangana and Rayalaseema

(3) Continuation of Hyderabad region
with coastal areas
(4) Setting up of River Water Allocation

Committee

103.

104.

-t -
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28y 9T FIRGOW
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105.

106.

107.

Consider the nature of the tenure of the
different Lok Sabhas in India

A.  The fifth Lok Sabha had longest
tenure

B.  The eleventh Lok Sabha had a short
tenure

C. The first Lok Sabha was abruptly
dissolved

D. The sixteenth Lok Sabha completed

its full tenure
Find out the correct answer from the

above,

(1)  Only A is correct
(2) Both C and D are correct
(3) Both B and C are correct

(4) A, B and D are correct

Voting age was reduced to 18 years in
India  through  this  Constitution

Amendment Act in 1988,
(1) eoth
(2) 61%
Eznd

6 31‘151

(3)
(4)

The Chairman of the Agricultural Credit
Review Committee is

P.C. Mahalanobis
A.M. Khusro

D.R. Gadgil

R.V. Gupta

(1)
(2)
(3)
(4)

(38)

105.

106.

107.
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C. St vz egoston
50000

0 suse &8sy $oS0DO Sogry,

-y

>3 6° O I o) 0G0t
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(3) Bdao C0 Bodsr 200G
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5030 SArS0AY 18 JOED i
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(1) 603

(2) 613
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108. 1 1y
fdentli} the wrongly matched pairl(s)
rom the following - |
A, UDAY Scheme 2015
B. PAHAL L.P.G.
Consumers
. CACP 2007
3 National Policy 1985
for Farmers
(1) Only A
(2)  Only B
(3) CandD
(4) AandB

109.

Consider the following statements

A. In Andhra Pradesh, the share of

agriculture

Bol TAE BT 25 D00adS soteiss
Fpgﬂc’:ﬁi
A.  UDAY 2, 2015
B. PAHAL LP.G.
e AN en
C. CACP 2007
D. 3335 20 1985
BTG
(1) A SPSD
(2) B S
(3) C SHdco D
(4) A0baio B

is increasing in the|109. 308 T D B68LoSol
State’s GSDP. A o B35 oo GwE, GSDP &
B. The Andhra Pradesh | Indjustrial ;jéﬁﬁcﬂ’ BOKO T KIS 5S.
Infrastructure Corporation is the =
nodal agency for Special Economic B. wo@ ©3% Fo@Ns E-';f*ff::-
Zones in the State. =8 ﬂ}fi‘;’:sfa (APIIC) :“ﬁpéﬁﬁ -@':@EE
C. IT sector is the fastest growing S5 MoUHD Ted IBIVT a3d.
sector. C. 4. Zono ©S08  JHormr
D. Amrut Solar Power Plant is HEIHES SoKo.
operating at Kadiri in Kurnool o
district. D.

Identify the statement(s) which is/are not
correct.

(1) OnlyB
(2) BandC
(3) OnlyC
(4) AandD

0y o 358 ot K
B $ K00 56 HIVRH.
R TTES 0T TS HoSod

(1) B Srgsd
(2) B5da» C
(8) C JSm&d

(4) A0Baiv D
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110. The urigin of caste system 15 at first 110. oo ”Jr}"JS o

mentioned in this culture. ;1‘5 QOO
(1) Indo-Aryan (1) ?:%D&G"“ﬁ'ﬁﬁ"s
(2)  Indo-Dravidian (2) =0 £ & g}&ai}:g

(3)  Indo-European (3) ac&s-mﬁﬁoﬁs

(4) Indo-German 1
(4) 20& -P;’fj&:s

oy

o5 mIrodc
111 S50 sErad8 $02080wS S8
111. Theory relating to the nature of society 1s o3

8 9 pj,:,.
(1) Patriarchal theory (1) ”‘%ﬁﬁ Sﬂﬁ L0

(2) Revolutionary theory (2) i}ﬁﬁﬁﬁ EJ%‘D&D
(3) Idealist theory (3) eSeSGTE Nayel:le
(4) Matriarchal theory 4) Sr éjﬂﬁﬁmg ?.}:‘:;C}@D

112. 1970 &¥508° &35 ($38S 9.

112. Two prominent persons associated with i Cﬁaﬁj":}% 50200093 HQCS& .
Chipko Movement in Uttar Pradesh

ﬁﬁ%@&
during 1970s are
(1) Sundarlal Bahuguna and Chandi (1) DotSerd advihems HoAk Soc
Prasad Bhatt Sard 185
(2) B.D. Shan‘na and 2) D& B H0a 2505,
M.S. Swaminathan &gﬂiaﬂdﬁ s

(3) Maneka Gandhi and Rajendra Singh

(3) I od HBavy "
(4) Panduranga Athavale and Vandana oEos wof

Siva (4) S¢S0l S8 H6a%s Sosae 43
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113,

114,

115.

{41 ]

Study :

dy on Development  of
il
{":mgﬂlp}\y' w

follow ing

- Population
as first ntroduce

. , in the
niversity :

(1) Punjapb Uy niversity, Chandigarh

\2) @7 University, Ludhiang

(3)  Punjabi University, Patiala

4) Guru Nanak Dev  University
Amritsar g

Shifting cultivation in North-East regions

in India is known as

(1) Jhum
(2) Ladang
(3) Milpa
(4) Roka

The two respective names of the Ghats in

Northern and Southern directions of

Andhra Pradesh are

(1) Eastern Ranges and Kadapa Ranges

(2)  Western Ghats and Southern Ghats

(3) Mahendragiri Ranges and Erramala
Ranges

(4) Deccan Ghats and Kailasagiri Ghats

w - - o g A b P g
113. 5788 G0 SSVlalhrvilely $cd
T - e L W s W5 ™ o T JT.‘:'-; T, .
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gk far 1,
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. & i =t 1. o
(3) Noerd) DEITO00, JFLIre
Kt
£ = £ o g S ¥
(4) O TS | Qo JERTMooho,
DRV
— % . iy e S L e
114. 2708 GO0 ©Thng (FFOTP09 D
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(2) o0
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e
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— 5
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et
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(2) SBpo  EoHen  HOa Sdes
Seada30en

(8) WroGNG @Ewen HBakd JEH

@ed

(4)  &5Q 3ty SO ICHAD Fre
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116.

117.

118.

m ol m, L L
Fhe largest and smallest populous otates

In India are respectively

(1) Maharashtra and Kerala

(2)  Uttar Pradesh and Sikkim

(3)  Andhra Pradesh and Haryana
(4)  Madhya Pradesh and Punjab

“The Government of India shall establish
the AIIMS type Super Specialty Hospital
cum Training Institution in the successor
state of Andhra Pradesh.” This was
included in this Schedule of the Andhra
Pradesh Reorganization Act, 2014.

(1) Tenth Schedule

(2)  Thirteenth Schedule

(3)  Ninth Schedule

(4) Eighth Schedule

According to the hierarchy, the
Commissioner of the Social Welfare

Department of Andhra Pradesh is directly

answerable to

(1) The Minister of Social Welfare,
Tribal Welfare and Empowerment

(2) The Principal Secretary to the
Government

(3) Additional Directors

(4) The Chief Minister

116.

117.

118.
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119,

120,

121.

(43 )

Implementation programmes that

encourage social integration is one of the
specific aims of

(1) Scheduled

Tribes Finance
Corporation
(2)  Backward Classes Welfare
Department
(3)  Andhra Pradesh Scheduled Castes
Cooperative Finance Ltd.
(4)  Andhra Pradesh State Minorities
Finance Ltd.
The weavers who are included in this

scheme are automatically covered by the

group insurance scheme.

(1) Provident Fund Scheme

(2) Health Package Scheme

(3) Thrift Fund Scheme

(4) Deen Dayal Scheme

The assessment of gender differential

impact of the budget to take forward the
translation of gender commitments to

budgetary allocations is called

(1) Gender Allocation
(2) Gender Budgeting
(3) Gender Equality

(4) Gender Performance

119.

120.
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122, A common factor for the continuation of

123,

124,

membership in a Self Help Group is that

the woman member should

(1) bhea money lender

[2) " be living in a pucea house

(31 be educated

(4 make regular savings contributions
Community managed sustainable
agriculture is a part of

(1) Training of Rural Youth for

Self-Employment

(2)  Sree Shakthi Scheme

(3)  Society for Elimination of Rural
Poverty
(4)  National Mission for Empowerment

of Women

Women empowerment includes a woman's

participation in improving her well-being,
for which she needs to

(1) participate in decision-making

(2) have access to information

(3)  have formal education

(4)  be allowed to buy gold

(44 )
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125.

126. °

127.

128.

(45 )

"Jannq‘na began to translate the

‘*:Ial'ml}lmmtd into Telugu from Sanskrit
at the instance of the ruler

(1) Rajendra Chola
(2) " Vishnuvardhan
(3) Kulottunga Chola
(4)

Raja Raja Narendra

"Administration cannot be the work of one

man, just as one wheel cannot drive a
cart.” This is stated by

k1) Kautilva

(2)  Megasthenes

(3) Fa-Hien

(4) Plutarch

The South Indian Liberal Federation

(SILF) was inaugurated to safeguard the
interests of

(1) Brahmins

(2) Non-Brahmins
(3) South Indians
(4) South Andhras

In 1954. the highest civilian award in
India, “Bharat Ratna” was given to

(1) Rajendra Prasad

(2) S. Radhakrishnan

(3) Dhondo Keshav Karve

(4) Purushottam Das Tandon
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129. The tota] st rength of the Union Council of | 129,
Ministers shall not exceed 15% of the total
number of members of the Lok Sabha
under the following  Constitution

Amendment Act, 2003 :
(1) 9gjst
(2) 99nd
(3) 93rd
(4) 94th
130.
130. Read the following statements that are

concerned with the Vice President of
India :

A. The Vice President acts as the

President of India in the event of
death, resignation or removal of the
President of India for a period not

exceeding six months.

The Vice President acts as the
Supreme Court Chief Justice when
the latter’s tenure expires.

The Vice President acts as the Prime
Minister of India when the latter
resigns from his office.

The Vice President acts as the
Ex-officio Chairman of the Rajya

Sabha.
Identify the correct statement(s) from the
above.
(1) Only A is correct
(2)
(3)
(4)

B and C are correct
A and D are correct

B, C and D are correct
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131. I]anch

132,

133.

ayati Raj Day is cele

Year on brated every
(1) April 22
(2)  April 23
(3) April 24
(4)  April 25
The Prime Minister highlighted the

'mportance of the Governing Council of

NITI Aayog as a platform to inspire

(1)
(2)
(3)
(4)

Co-operative federalism
Co-operative feudalism
Co-operative farming

Co-operative financing

Consider the following :

A

D.

Rourkela Steel Plant was set up with
the help of Germany.

Durgapur Steel Plant was set up
with the assistance of U.S.S.R.

Steel Authority of India Limited was
established in 1974.

Bhilai Steel Plant was established in
1973.

Which of the statement(s) given above
is/are correct ?

(1)
(2)
(3)
(4)

Only B
Only D
Both A and C
Both B and D

| 47 )
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134,

135.

136.

In l[ldiil. |'||;._:'h !_‘.',I'ﬂd.ﬂ quﬂlit'}' mica, Eﬂpﬂhlﬂ'
of earning huge foreign exchange 1s
available in this district of our state.

(1) Nellore
(2} Krishna

(3)  Guntur

(4)  East Godavari

The definition “Society is the complex of|135.

organised associations and institutions
within the community” is given by

(1) Giddings

(2)  Ginsberg

(3) Harkins

(4) G.D.H. Cole

Consider the following statements :

A.  Early Greek political thinkers did
not make a distinction between state
and society.

B. Barker viewed that society is not
held together by the state.

C. Maclver explained that
motives control the state.

D. Rousseau held that state of nature
was a period of peace.

Of the identify the
statement.

social

above, wrong

(1) Only B is wrong
(2) Both B and C are wrong
(3) OnlyCis wrong

(4)  All the given options are wrong

(48 )
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137, The py

Civi] Rights Act, 1955

| 49 )

'. ll - Ll .
eVious name of the ‘]’mn-rtiun of

a5 amended 1n

1976 ig

(1)

(3)

The
Act, 1955

['he Untouchability (Offences) Act

1955

I\nn-tll.-:r:rlmilmliun (Offences)

I'he Cancellation of Untouchability

Act, 1955

The Eradication of Caste Act. 1955

138. Consider the following statements :

A, Ministry of AYUSH was formed in
2014,

B.  Previous name of AYUSH Ministry
is Department of Indian System of
Medicine and Health.

C. AYUSH presently is under the
Union Home Affairs Ministry.

D. Recently the Tibetan Health
Tradition, Sowa-Rigpa has been
added in AYUSH.

Identify the correct combination of

sentences from the above.

(1)
(2)
(3)

(4)

A is correct and D is wrong
Both A and D are correct

Both B and C are correct

B is wrong and C is correct
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139,

140,

141.

."H‘l.'l'll‘{ling to the Meteorology Department
of Indian Government, monsoons in
November are termed as

‘11 Changing South-West Monsoons
(2)  Constant South-West Monsoons
(3)  Progressive South-West Monsoons
(4)

Retreating South-West Monsoons

The programme meant for developing of

about 34,800 km length of economic

corridors in India is

(1)  Bharatmala Parikrama
(2) Bharatmala Parikriya

(3) Bharatmala Prayojana
(4) Bharatmala Parivojana

Another name of Srisailam Hydel Power

Project is

0)

139.

140.

(1) Neelam Sanjiva Reddy Sagar Project

(2} Y.5. Rajasekhar Reddy Sagar Project

(3) Kotla Vijaya Bhaskara Reddy Sagar
Project

(4) Damodaram  Sanjivaiah  Sagar

Project

141.

9

BT el 08 TRy,
‘r"-r""';-.-"_‘:' Lﬁﬁdﬁ & ;.j.a Lg':": - i
. i : 'E} 3 (SO0 ‘th ~
550088 tdo I e

(1) Sris DH8 O ST
() HER0s DD EoE DT

= e —
. 5 1 iﬁ:é} HeITEED
(3) PHOTHS S0

@) SEHDS DS L& SST

PES BoS: HOSTES 34,800 SO T

oL SN Beomd addotud:

m—

2E50

(1) grOSSre SOEDL
(2) rESdIro S0 0D
(3) rOSSre S00mess
(4) grO8Sre S0Ares

BBoo e 536 PR Ko S0628:

(1) dwo Hoks oG b By

(2 3.9%. oeBps 3G b RS
(3) e Jesa® TE 8& b @ ER
(4)

T3S0 ﬁaéﬁﬂ‘.ﬁﬁ b BN

T 0l

s

<y ] S —



VSWS |

(51)

142, Consider the following statements -

A, As per
Reorganisation

the  Andhra
Act,

expenditure in respect

Pradesh
2014, the
of salaries
and allowances of the judges of the
COMMmon Court  shall  be
allocated the States of
Andhra Pradesh and Telangana on
the basis of population ratio.

The respect  of
salaries and allowances of the judges
of the common High Court shall be
allocated the States of
Andhra Pradesh and Telangana on
the basis of revenue ratio.

High
amongst

B. expenditure  in

amongst

C. Section-35 deals with the special
provisions relating to Bar Council

and Advocates.

D. Section—36 deals with custody of seal

of Andhra Pradesh High Court.

Which of the statements given above
is/are correct ?

(1) OnlyC
(2) OnlyB
(3) AandD
(4) CandD
143. The Tribal Welfare Department has been
accorded permission for  converting
50 tribal welfare hostels into
(1) Guest houses
(2) Boarding houses
(3) Residential schools

(4) Youth hostels
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144,

The Backward

(lasses

(-§2)

Welfare

Department focuses on the welfare and

{]Dr["iupmﬂnt of the backward classes

through

(1)
(2
(3)

(4)

matched ?

A. AP Labour
Welfare Fund Act

B. Dr. YSR
Arogyasri Scheme

C. Right to
Education Act in
AP

D. National
Nutrition Mission

(1) Only A, Band C

(2) OnlyB,CandD
(3) OnlyAandD
(4) A, B, CandD

Economic Development
2)  Technical Development
Infrastructure Development

Agriculture Development

. Which of the following pairs are correctly

1990

Provides
insurance
renewal
facility

Implemented
in 2010

Reducing
stunting,
nutrition and

anemia
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146. Consider the following :

A Investments in Physical and social

infrastructure

are  important  for
higher growth which favours the
poor and can alsp improve
employment and social development.,
R: Low growth in public investment |
could be the reason for the low
growth in employment.
Choose vour answer from the codes
provided,

(1)

explanation of A

(2) A and R are true but B iz not the

correct explanation of A

(3)  Aistrue but R is false

(4) Ais false but R is true

Self Help Group Bank  Linkage

Programme was launched by NABARD in

147.

(1) 1990
1995
1980

2005

A and R are true and R is the correct |
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148. Consider the following : 148. 2000 HONeO S
A, Edueation A DGy
B. Market dynamics B. 35r3)e5 @;‘&5’.".135‘]
C.  Housing O Avs So0ol0

Which of the above support structures

result in empowerment of women-only

g
S el

Self Help Groups ? 2 TE & G ML > oon
Dire Fowos &) XOPO D

(1) Only A i
RORTPD JUyEToR

(2)  Only B >

nly B and ( (1) Ai}“;_iﬁfw
(3) Only A and C (2) B X8cin CSiI“L?:ng
(4) A, BandC (3) ADOCy CSPE

(4) A, Bobain C

149. The female labour force participation rate
in India which was at 36:7% in 2005 was

found to have fallen in 2018 to 149. 2005 & 68 B9oS'D § TOE il
: G Tew 36-7% &5B. 2018 & b
(1) 26%

I8 BEFonSH.
(2)  34% D) oo
(3) 32% (2) 34%
o (3) 32%

(4) 29%

150. Raja Raja Narendra is a

150. Tr&: Ores S0t B2 Sows) e
(1) S80I Jody) ore
(2) ﬁ:‘tﬁb ﬁ“ﬁ.‘jﬁﬁ Tvpw

(3} Western Chalukyan king (3) ;’J%J;j: mgﬁ Tres

(4) 365 S0%s) orer

(1) Tuluva Dynasty king

(2) Eastern Chalukyan king

(4) Mauryan Dynasty king
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